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ex3-3.csv DT —HZ|ZHONWT., BTV ETNAEMEHATH, kOTa I35 AN L. ETLT
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datal <- read.table(“ex3-3. csv”, header=TRUE, sep=",”)
datal

#

t 77 RN

#

CE_lagl <- c(0, datal$CE[1:length(datal$CE)-1])

regl <- Im(CE"YD+CE_lagl, data=datal)

summary (regl)

windows ()

plot (resid(regl))

#

t X—E o0 hHEE
#

residl <- resid(regl)
residl

residl_lagl <- ¢(0, resid(regl) [1:length(residl)-1])
residl_lagl

summary (Im(residl residl_lagl-1))

rhol <= coef (summary (Im (residl residl_lagl-1)))[1, 1]
outl <- summary (regl)

schat <- outl$§coefficients[3, ”Std. Error”]
durbinsh <- rhol * sqrt((length(datal$CE)-1)/(1-(length(datal$CE)-1)*schat))
durbinsh

#

A Ay ]

#

YD_lagl <- ¢ (0, datal$YD[1:length(datal$YD)-1])
YD_lag? <- ¢ (0, YD_lagl[l:length(YD_lagl)-1])
YD_lag3 <- ¢ (0, YD_lag2[1:length(YD_lag2)-1])
WYD1 <- datal$YD + YD_lagl + YD_lag2 + YD_lag3
WYD2 <- YD_lagl + 2 * YD_lag2 + 3 * YD_lag3
WYD3 <= YD_lagl + 4 * YD_lag2 + 9 * YD_lag3

#

#XTA—HOHE

#

almon <— Im(datal$CE WYD1+WYD2+WYD3)

summary (almon)

#

B HEDIRTA—H DM

#

coefl <- coef (summary (almon))

bl <~ coefl[2]

b2 <= coefl[2] + coefl[3] + coefl[4]

b3 <- coefl[2] + 2%coefl[3] + 4%*coefl[4]

b4 <{- coefl[2] + 3*coefl[3] + 9%coefl[4]
para_org <-c(bl, b2, b3, b4)

para_org
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datal <- read.table ("dummyl. csv”, header=TRUE, sep=",")
datal

regl<-Im(Y"X, data=datal)

summary (regl)

windows ()

plot (resid(regl))

#

# XA EANTZET IV

#

datal$D <- ifelse(datal$YEAR==1993, 1, 0)
reg2<-1m(Y"X+D, data=datal)

summary (reg2)

windows ()

plot (resid(reg2))
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LDZBWTEHZ I —%ARKTHZ LN TE D, FEFFREHEEXN (CE) & FEZE Ty
it (YD) OHN, exb-4.csv (ZHHDT, ZhxFyrra—RFLTRELTEI ), £LTK
DT T TLEANL, FATLTHL D, (7 A V41Texb4R & L TEL)

datal <- read.table(“ex5-4. csv”, header=TRUE, sep=",”)
datal

datal$Dl <— ifelse(datal$QUARTER==1, 1, 0)

datal$D2 < ifelse(datal$QUARTER==2, 1, 0)

datal$D3 < ifelse(datal$QUARTER==3, 1, 0)

plot (datal$YD, datal$CE)

regl<-1m(CE"YD+D1+D2+D3, data=datal)

summary (regl)

windows ()

plot (resid(regl))
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#3307 —4%HWT.CEZ YD IZx L CHEYFAZBZ 29 252525, ZOHMIX 1980
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datal <- read.table(“ex3-3.csv”, header=TRUE, sep=",”)
datal

plot (datal$yYD, datal$CE)

regl<{-1m(CE"YD, data=datal)

abline (regl)

summary (regl)

windows ()

plot (resid(regl))

#

HMRE Y I — L EHES I —
#

datal$D <- ifelse(datal$YEAR>=1992, 1, 0)
datal$DYD <- datal$D*datal$YD

datal

reg2<-1m(CE"YD+D+DYD, data=datal)
summary (reg2)

windows ()

plot (resid(reg2))

#

HEE AL DO RE

#

anova (regl, reg2)



